— RS (L)

s JERBRTE (D
(#H£-:100 4~ 848 .60 5-4F)

AR -

— . (BT, 4H5Z1 9. £ 145)
L A9, B 1LXPERC ).
2. BRTAEMNS=41802C ),JGEMB AR ).
3. 16 B4 bR ( ) 2é75 ( YA — 1L kR ), FR(
M.

4, 7£ 3,5.8.11,7.20,19,13 dr, —3LF ( YA WZENERLT HES
C O)LWEAANERC ). ZIAED B/MISRC ) KHEE

C D)o FFXIUAZEERMN/ NIRRT HEF 2
iHE. 845

4+7= 15—5=  10+3= 16—6=
14—3= 18—7= 12—2= 15—4=
5-+8= 7+6= 3+9= 0+11=
14—4+7= 11—1+7= 8+5—3=
6-+3+9= 19—4—5= 547+4=

=, FRE. @04

e N B R e B N B N B

© ©
g!;'_‘ +9 =2+ —4 46
©©

m, £ | ESEAENE. 84
8> |+7 6+9=] |+5 6— |=0 +7=7
15—5= +9<10 +6=7+2 o> ]+8

F. M 5.15.10.20 th, ikt 3 MMEWmEMERXAMAEEREZERX. 45

O00O0
Il




N, XE—E, (9
1, ZEZER—FK. (44

& & i [F

ﬂ %ﬁiﬂ“nﬁl’um:ﬁ J (5 %)

06666

€. & #kEEIE?FdJ@MLlJH:E zih@ff] 11 BTI’JB‘]‘&ME 'FEE'E“IﬂEJiéUJIﬁH‘J
e i) , ‘l«'ﬁﬂliﬁ NBRAM? SETAMNESE. (45)

‘(mg. D ¥ ” (DY

O 4 WO 4% ﬂ‘( )44
}\\ ﬁ_ﬁsiﬁ_txn (4. f})

2
2
(o4 (o4

C M  MNT  MEZ (e

A, BAENERR. 4 5)

BAEERD N 'ﬁ‘tﬂﬁiﬁ}
g il KR,
FHEK ﬁﬁ&*h‘}?%’
-« JREGEHF . &%
Vg s, KRAU. %"'




T, WEMNNITE., (F 148445, 8882 4,34 104)

LOO OO0
OO OOO

=l |

= |

(1)

O
O 1=Ju
O
O

OLIOL =]

OO 1= o

a@%ﬁ BB |— aﬁ%ﬁ.«% KK
KL B KL K

OLIOL = Jaw

+—. RREE, (H1E3HF2MTHF IS5 X1 H)
L (cmzrzaR? [(1654TF, SBRT 6%,
17 L~

(&)




B> I

MAC OANVREHC OB MO OT
(1) BAMITEIH ZLA4?

Ol J=[ |z
(2) ¥ PHEBREEZ LI
Ol =] e

— LT 20 4, 5 AR0E7
Ol 1O =1

<| |(8,478)




HERAIEE ()

—.1L 19 2,10 15 3.6 6 1 1 4.8 5 11 3 20 3<6<C7<<8K
11<13<<19<<20

=-11 10 13 10 11 11 10 11 13 13 12 11 17 17 10 18
10 16

=.0 4 13 10 15 12 10 17 13 19

[M,.0 10 6 0 10 0 3 O

E, 5+10=15 10+5=15 15—5=10 15—10=5 (& 5+15=20 15+45=
20 20—5=15 20—15=5)

ml)Hi 2 73N

.= =

.n\/’_—\
BRESE | KR
FHH H¥FE
+.1. 4+6=10 6+4=10 10—4=6 10—6=4 2, 5+2+4=11 3, 12—
2—4=6 4. 6+4—3=7

+—.1. 16—6=10 2. 8 2 10 (1) 8+2=10 (2) 10—8=2 3. 8+3+
4=15 15<<2C A




